AR
il ehm

1~3 4

T
N
,&

¢

e T




H31-4u
2%

rr c)n—'.. >
+407 23

SRR

(1—3 &)

Hog R N S



AT S
BB 72 B4 B (CIP) 38 )U 7S /- %

REIFEZ WAL 1~ R/ ERGEBERESR . —
B, b 3T K i ARAE . 2000
ISBN 7-313-02304-9

Lok 1.0K- DE-~ §. EE-BEEH RE
V.H31

PERAEBE CIP BT (1999) & 62045 5

AERERREARO~3H
iR EEX ZER

L A0E R¥E B R AR & AT
(LBTHHERRK ST S HBEESB 200030)
B 1% 64281208 AR . K KE
E#ZERZDPRT DR SEHEBELH
FF A .850mm X 1168mm 1/32 Eigk.12.5 F¥.320 FF
200041 A B LA 2000818 $1 KM
EI%L . 1~6000
ISBN 7—-313—02304—9/H + 446 E# :16.50 T

RFAE SRsR



ol

i

CAEXBABRBREN~3E)IRENSFTASR BN ELR
FW. MAEHLNHS SHFWER, A¥EECRY -+ E
EOEAR, wTEFHE FHE URR I ERELW®]T
ERZ—,

(CAFXBEARAR(I~3R))EH1EIREHES B, 4
BAFRERY THRANXERBoSELEE,

(A¥ABLRBR(~3R)VEEEALERSE, S0
AEFEABH SA L. 1,23 XA BN EARDLF, 5 —
BoWetE LRI HAEES LI,

1RAABF 2 ZRBY BN X ME, AR, AR
ERAETHAEME LD L RN A EMRD 104N EHR 10 4
AT 20 AR, T2 RWFHEMA 10 A4 F 10 4
NBFEH0BMAR, AEREXRN 3B RBERA L AR A
o

3RW A1 EMA 3 M SectionB B, H T LB A
#) 2 A Section, Section A: 10 £ /N %} 3% ; Section B: 3 B AEX
(10 A~ # ) ; Section C: Spot Dictation (Test 1 — 2); Compound
Dictation (Test 3~5), # ¥ Section B & Section C ARHE—F
R BA, Rk H M Test 1 # Test 2 th BHE, W 0L R 2t
Spot Dictation #5 4, T T Short Passages # 4 ; i 7 8k Test 3—5
B, 7 ML 2 2% Compound Dictation # 4, 7 K # Short Passages
BRo HHFIVLEBRXEE 5 H2 Cloze, b EHH
—o MINSABHMERRBET 6 M8, L5 bk R BRIy
SARA. REERN A 3 ARBAE 1 BT RAT WA

=1 -



R 3ERSHLE—WEE, MRS KB E 2 HAED 5T
BERBEK, EELRREAFIER, G TULBH,EET
Wy B I T DL M REEK 25 o4, 3P T K 3 A Section, K
044;:83, 5B HEMUNEK 15 24,
BHEAEERANEARE2 P ABE, MEZEBE
RELZER NG TR CARLRE LRF EHLTE LUE
#—FFh. BRERLHH , RATU-E—ERSAER,#
R—BLEERERWNWEB LAME £, AATTHRECH
EANESRE WL,
GHEANERT RBRMRE ¥, 6T A B RETRBRK ¥,
AAGEWHNRA Tikik# THEE BB ED, mEAFRA
ENEREM, ALHEAMRTRETRHRRZL., YRBHEX
REARRERAS MR- MY, B RABRBETRRREI Y
. EHASNEH RAATHCTRFBLE, AR EER
KYHINE, AR BRBEINRBT %, RAETH
R Ao REFHHE ST EXBRALTH R, EHOHEFTA
FREARE, A RESRVHREmERYR 4
KA KEAXAHERLARBHIFmARE L,
FEME LRXBAFSEERE M EZRT R, ARET
B,

W&
1999 £ 5 B



REXELSRER(14)
MOdel TeSt 1 ......................................................... 3
Model Test 2 +evrrevreeenereaserueemenserniesssnsrsncrassnnaennns 21
Model Test 3 wevererreererncersserirnereseensoseunennennseneaenns 40
Model Test 4 eocceereccronsciscrsrocenriarenaccnnenns B P 58
Model Test 5 +erererrrrenssessssiusisresssemannernnasensnnsnnnanes ol
Scripts for Listening Comprehension +++++«=ssreeneeesreneeeane. 96
Keys  roeeerssesssrttenetntett e e 108
REXEEREA(Q2R)
Model Test 1 +eeseererrerrerraremnsioteirucreoserasrrorasnnennnnns 119
Model Test 2 ++verrrerererrserurerusesereesiereerenesarrssnseenns 138
Model Test 3 +vevreserrsreareenrerenaencsonuseenceraneesnasenrenes 158
Model Test 4 ...................................................... ]78
Model TeSt 5 ++rereererrrrenssursnensercreueseerenssenunnenneenns 196
Scripts for Listening Comprehension  «r«+eereerreeeceneenee. 216
Keys  +rereresssessenmtiietetii e e 228
REFEEREMR(IR)
Model Test 1 +evereerererereeureeerienmeenneemartarerrenenseennnes 230



Model Test 2 +ectveceecereceercisrasantossesnsnsosecscrsasosssnnane 262

Model Test 3 +eevvorersrearerrarersrareriirsinsscsisenssasnesnnnees 284
Model Test 4 +overerreeerarartsesrararsreieneennsanreeeneransneenns 306
Model Test § -revvreerrresersersearareenaenencnrarenrnenrnenernees 327
Scripts for Listening Comprehension  ++«+=++seeeereeennnn. 349
Keys  oereereerrrerinii et ee s 378

pﬁi i*iﬁ%ﬁﬂgﬂﬁﬁ(l“ﬁ g&) ........................ 388



RFFIES S

(1 2%)







Model Test 1

Part 1 Listening Comprehension (20 minutes)

Section A

Directions: In this section, there are 10 statements. Each
statement will be read twice. Then there will be a pause.
Choose the BEST answer from the four choices A), B),
C) and D) given for each statement. Then blacken the
corresponding letter on the Answer Sheet with your pencil .

Now you will hear an example :
You will read :

A) Jack is sleeping. C) Jack is working.

B) Jack is speaking. D) Jack is waiting.

Sample Answer: A) B) @) D)

Answer C) is closest in meaning to the statement “Jack is
busy with his report in the office”. Therefore you should
choose C) and blacken the corresponding letter on the
Answer Sheet with your pencil .

1. A) Only the bag is mine.
B) Only the hat is mine.
C) Both the bag and the hat are mine.




D) Neither the bag nor the hat is mine.

. A) Diana is by the chair.

B) The coat is on the washing machine.

C) The coat is on the chair.

D) Diana is by the washing machine.

. A) Jane did not telephone Mike.

B) Mike didn’t answer Jane’s call.

C) Jane borrowed Mike’s telephone.

D) Mike wanted to give Jane something.

. A) We didn’t get good seats although we arrived on time.
B) We got good seats although we were late.

C) We got good seats because we arrived on time.
D) We didn’ t get good seats because we were late.
. A) Mary said Bill was the only one she loved.

B) Mary said only she loved Bill.

C) Mary said Bill loved her only.

D) Mary said no one else loved Bill.

. A) Jack gets to class at 7:50.

B) Jack gets to class at 8:10.

C) Jack gets to class at 8 o’ clock.

D) Jack doesn’t have class in the morning.

. A) Someone stole Sue’s or Betty’s watch.

B) Sue and Betty stole his watch.

C) Sue stole Betty’s watch.

D) Sue or Betty stole his watch.

. A) We must try to forget the question.

B) The question is easy to forget.

C) We must remember the question.

D) The question is not important.
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9. A) Frank’s sister did her homework while Frank played
football.
B) Frank’s sister did his homework.
C) Frank did his homework after he played football.
D) Frank did his sister’s homework.
10. A) Mr. Baker is neither from Germany nor from Italy.
B) Mr. Baker speaks both German and Italian.
C) Mr. Baker is either from Germany or from Italy.
D) Mr. Baker does not speak German or Italian.

Section B

Directions: In this section, you will hear 10 short
conversations. At the end of each conversation , a question
will be asked about what was said. The conversation will
be read twice, but the question will be read only once.
After each question there will be a pause. During the
pause , you must read the four choices marked A), B), C)
and D) and decide which is the BEST answer. Then
blacken the corresponding letter on the Answer Sheet with

your pencil .

Now you will hear an example :
You will read ;

A) He left his notes in class.

B) He couldn’t borrow the notes.

C) He didn’t take the exam.

D) A classmate borrowed his notes. .

Sample Answer: A) B) C) @)
From the conversation we know that the man did not study
. 5.




because he had lent his notes to his classmate. Therefore,
D) “A classmate borrowed his notes” is the best answer .
You should choose answer D) on the Answer Sheet and
blacken it with your pencil .

11.

12.

13.

14.

15.

16.

17.

18.

19.
-6

A) He thought it was not as good as Dr. Black’s.

B) He thought it was better than Dr. Black’s.

C) He didn’t like it.

D) He didn’t hear it.

A) Henry. C) John.

B) John and Henry. D) Henry and Jim.

A) The woman feels much worse than she did before.

B) The woman still doesn’ t feel very well, but is much
improved.

C) The woman is feeling very well now.

D) The woman doesn’t know where she is.

A) At a department store.  C) At a bookstore.

B) At a restaurant. D) At a post office.

A) It is not a very new car.

B) It is a nice new car.

C) It is about four years old.

D) It is in good condition.

A) He is younger than Jane. C) He is the oldest child.

B) He is the youngest child. D) He is younger than Billy.

A) Swimming and Bowling. C) Bowling.

B) Skating. D) Swimming.

A) French. C) Arabic.

B) Japanese. D) Spanish.

A) Simon is in the army. C) Simon sells cars.



B) Simon can fix her car. D) Simon doesn’t like cars.
20. A) Japan. C) China.
B) Home. D) India.
Part [ Reading Comprehension (35 minutes)

Directions: There are 3 reading passages in this part.
Each passage is followed by some questions or unfinished
statements. Each of them is given four suggested answers
A), B), C) and D). You should choose the BEST
answer and blacken the corresponding letter on the Answer
Sheet with your pencil.

Questions 21 to 25 are based on the following passage:

The word “hello” is probably used more often than any other
one in the English language. Everybody in the United States—and
elsewhere—uses the word again and again, every day of the week.

The American inventor, Thomas Alva Edison, is believed to be
the first person to use “hello” in the late 1800’ s, soon after the
invention of the telephone.

At first, people had greeted each other on the telephone with,
“Are you there?” They were not sure the new instrument could
really carry voices. ‘

Thomas Edison, however, was a man of few words. He wasted
no time. The first time he picked up the phone he did not ask if

anyone was there. He was sure someone was, and simply said,
“Hello.”



Of course, there are other ways Americans greet one another,

Not long ago, people often said, “How are you?” when they first
met someone. This later became “hiyah.” Then, someone thought
that two syllables were too much and “hiyah” became “hi”. Laziness
is a strong force in changing language.

Answering a telephone in America still presents problems,

however. Telephone companies think that Thomas Edison’ s short

“hello” is too long. “Why waste time?” the telephone company

says. “Simply pick up the phone, give your name, and start
talking.”
21. Which of the following statements is true?

23.
~A) hey C) hello

24,

A) The word “hello” came into use even before the telephone
was invented.

B) People use “hello” not only in English-speaking countries.

C) Thomas Edison was famous for his invention of “hello”.

D) The word “hello” has been used for nearly 200 years.

. Why did people greet each other on the phone with “Are you

there”?

A) Because they could not hear each other.

B) Because they could not see each other.

C) Because they didn’t believe they could hear each other.
D) Because they weren’t certain they could hear each other.

”

The simplest way of greeting is to say “

B) hi ' D) hiyah

Which of the following statements is NOT true about Thomas
Edison?

A) He used “Hello” instead of “Are you there?”.

+ 8



B) He wanted himself to be the first man to say “Hello”.
C) He did not like to talk much.
D) He did not want to waste any time.
25. What is the best way to answer a telephone according to the
telephone company?
A) Saying “How Are You?”
B) Saying “Hi!”
C) No greeting at all.
D) Talking about the business directly.

Questions 26 to 30 are based on the following passage :

An “apple polisher” is one who gives gifts to win friendship or
special treatment. It is not exactly a bribe, but is close to it.

“Apple-polishing” is as old as human society, but the phrase
itself is recent, about 50 years old. It comes from the schoolroom.
For a long time, some schoolboys would leave a shiny apple on the
teacher’ s desk. ‘

They would rub and polish the apple to give it a bright shine,
so as to make it look more tasty.

Such a gift, the student hoped, might make the teacher shut
her eyes 1o his poor work and give him a good mark.

All sorts of people are apple-polishers, including politicians and
people in high offices—almost everybody.

There are other phrases meaning the same thing as “apple-
polishing” — “soft-soaping” or “buttering-up”. A gift is just one
way to “soft soap” somebody, or to “butter him up”. Another that
is just as effective is flattery(ZE7& ), giving someone high praise—
telling him how good he looks, or how well he speaks, or how
talented and wise he is. Flattery, of course, is the cheapest kind of
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“apple-polishing”. To flatter another costs you nothing and you can

give it as freely as you want. And you can always find somebody

eagerly looking for it.

26.

27.

28.

29.

30.

An “apple polisher” is one who

A) flatters in words or with gifts.

B) bribes with apples or money.

C) is really friendly to everyone

D) polishes the apples every day

The phrase “apple-polishing” comes from

A) the farm C) the schoolroom

B) the plantation D) the countryside
Why did the student polish the apple for his teacher?
A) He hoped that she would not pay attention to him.
B) He didn’t want her to wash the apple by herself.
C) He wished to draw her attention.

D) He longed for her giving him a good mark.

All the following have the same meaning EXCEPT

A) apple-polishing C) soft-soaping

B) turkey-talking D) buttering-up

According to the passage, the easiest way to please another
person is .

A) to flatter him C) to talk freely with him

B) to bribe him D) to play jokes on him.

Questions 31 to 35 are based on the following passage:

The printed word is just about the most important way we have

of communicating with one another. Look around you at the books

.10.



